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for the exam.
9. el &l A ST % G B W HH Ueh fehed/ Tt w0 & A1 Tl w8 gifvad & & forg 10 free arfufem fog s
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.
10. =fE w97 o fot a1 ST wntoT H 0T AT TLATHH Ui Dbl fohH! Y I bl STETe /Tl &, <1 fistl Seehor f aiferd A sy
If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions,
then the English Version will be treated as final.
1. oe & ¥ e /<[y sz ar fedt o seiaeiie feie o1 SuaiT ged afid &1 afy fedl eradt % ua O #iE ot gl o w8
q 3u% faeg Fregar aed #riar & s |
Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any
such prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
AE 2 AR B ST b B T AT ST & AT ST T ST F AT A & IT 36 UTH BlS STTeehdd TRl urs Sl & o 36 Raars gferd
T A .S, M. T51 b1 Sl &fiX ag g andsities wern sifafram, 2022 ofi defer sifafram 2023, (9t ¥ srgfad |remt & twam &
HLUT) & Tod TN % fg SaEr s e 10 T & st wre qar 3 1 s I &1 YT § | 39 918 s st & @ ahestt &
W Y o1 o ST wehetT %1
Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession,
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Given below are two statements:

Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.
Statement (II): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

el a1 e feg e

AT (I): AT oIt et was Ay, R, e, Seaue i siteraret ot o fewdi # urs St &)
AT (I1): AT el Firgh Hirhett 3T Fome i et o forg s 21

ST HUI o ATl |, 1 20 T foreedii § & wayiferes 3uge 3o 4|

(A) e (1) 3R F (1) T T 2 (B) Y (1) 3R F (1) THT &1 TeAd 2
(C) o (1) TEt & ATk e (1) TeAd 2l (D) U (1) TTeTd 2 TR e (11) Tt Rl
(B) raRayy

Mantha river merges in which of the following lakes of Rajasthan?

(A) Pichola lake (B) Didwana lake

(C)  Anasagar lake (D)  Sambhar lake

(E)  Question not attempted

FrtaRaa o & T 6t for siter o werm 7€t forer =1 STt 82

A) e siia (B) Ereamrsiia
(C) AFMFR et (D) @R
(B) raRayy

Which of the following statement is not correct about the winter monsoon of Rajasthan?

(A) A highly developed pressure centre to their north of the Himalayas impacts rainfall in winter.

(B)  Winds start blowing from oceanic high pressure area to terrestrial low pressure are causing rainfall.
(C)  Winds are dry due to their terrestrial origin impacting rainfall.

(D) In this period some winds bring rain after coming into contact with mediterranean cyclones.

(E)  Question not attempted

freaferfiad o & 1 |1 o, TS o RS AET o de § Tl 72 27

(A) Teue™ & ST T U rcafiiens foenfod geme Sy widat o ot o6t gefad et R

(B) WS =0 qalTd &1 § Tl o qaTe & oht 3T gaT =ei e €, Sred it gt 8

(C) et 3eafeT o T §ATE 37 Bicll &, fradt ot gwifard 2t 2

(D) 39 7afY § % TaTd [HEAHTRI T5RATd o TFieh § 3T & a1g a9 ordl &

(E) i@ gy

W—l:“s”iﬂfﬁﬁ%aﬁ%l

AT - 11 : 3 = i 2

SUH el o AT H HHTRad fospedi # & @afferss 3ug Iut = :

(A) T [ AT A T & (B) Y I 311 ST 318 &

(C) FFIEAE, Tohq Fo Il s 8 (D) FFIFEAT, fFgFaA a2
(E) SFdia ¥

A17] S8 2 [ P.T.O.
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‘AGENDA’ frfarfiga # forer a1ef & gk 81 arett 1 82

A)  Twdq (B)
(C)  riEsh (D)
(E) SAfdia s
SHeASIT STl SSTHT, FeTal o 372 o1 Ferdt 3ferq forshe -
(A) T T (B)
(C)  gd &~ & (D)
(B) ruRayy
Freaferfia 37 w3 2-
a. Eazll b.
c. Th d.
e.  HIEUHA
et faw T ferehedt # @ wiferes U ST A :
(A) FacTa3iNc (B)
(C) FacTas3id (D)
(E) SAgdia s
Where is Fullerene used?
(A) In purification of natural gas (B)
(C)  In cutting rocks and stones (D)
(E)  Question not attempted
ORI 3T 3T El BT &2
(A)  TeRfes 7 o weq | (B)
(C) =M 3R el &l e (D)
(E) SFfdia s
The reaction between an acid and a base is called:
(A)  Neutralization reaction B)
(C)  Addition reaction (D)
(E)  Question not attempted
Teh 3T 3 &R o s ST haelrdl
(A) et stfafsrar (B)
(C)  ITTeHeh SAfIfshaT (D)
(B) ruRayy

GET IT ON
Google Play

EopER

3

EARK:EIES]

T I BT

[N

I8 YHSAT

ERIR)
RS

el ¢ 3 e
Wa,cﬁ(e

In making electrodes

In manufacturing of jewellery

TALIS o AT
EENGEAEEIVE

Catalytic reaction

Dissociation reaction

I IAfTfsham
IERIECEGIR I ET)

Which of the following events is not related to phenomenon of Refraction of light? (Choose the most appropriate

option from below)

(A)  The coin kept at bottom of a pot containing water appears raised
(B)  Appearance of Sun before Sun rising and after sunset

(C)  Blue colour of the clear sky

(D)  Formation of image by a lens

(E)  Question not attempted

e €1 TS I EreeT WehTeT o STe | Helferd 8 82 (e § we U forshed )

(A) O & S % e I T T SO 33T G el il 2l
(B) wdied ¥ et AR G o =1e 9 o1 fawr

(C) T TR &I AT {1

(D) U i gry wfdfers =t fmfor @)

(B) raRayy

Al7] 88 3
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Raniganj coalfield is situated in

(A) Madhya Pradesh (B)
(C) Odisha (D)
(E)  Question not attempted

TS FreThies 7 feora 21

(A) mEem (B)
(C)  ehfesm (D)
(E) oFfdia gy

Jharkhand
West Bengal

YRGS
gty s

Which of the following statement is not correct about the Khetri Copper refining plant?

(A) Itis an integrated Copper mining-cum-ore refining plant.
(B) It obtains copper ore from the Malanzkhand copper mines.
(C) TItis situated in Bikaner district of Rajasthan.

(D) It also has a Sulphuric acid plant and a fertiliser plant.

(E)  Question not attempted

Frefetiiad shemt o & 6 |1 hoe et 19 LY G35 o ga § gel T8l 82

(A)  TE U UhIshd qieTl TH-HE-3TI%h ITeH €69 2

(B) I AISRAYS dieT WM W, el 7% ITH LT 2|
(C) I8 TSEAT & SfiehTR fored 7 forq 81

(D) T Uk TR a1 T I 3Jateh 6 off 2

(E) oFfdia gy

Which of the following is a brackish water fish?

(A) Perch B)
(C) Loach (D)
(E)  Question not attempted

ffeiiad & @ sIF €t @1 a= i Fod 82

(A (B)
€ @ D)
(E) SFdia w4

Indira Gandhi Canal has been built on the following rivers :
(A)  Mahi and Chambal B)
(C)  Sabarmati and Parvati (D)
(E)  Question not attempted

g ieft Tex fore 7 9 o Afeat o s e 22

(A) WTE U e (B)
(C)  dTeHdT e et (D)
() SAgdia s

The state of Rajasthan produces around

Pompano

Rohu

T

[N

Son and Banas

Beas and Satluj

BIEREEEIC]
ST T HAaqsT

% of the total wool production in India.

TSTET T3 MR § el el SCATEH HT e SITCRTA JedTa LT 2
(A) 60 (B) 50
©) 40 (D) 30

(E)  Question not attempted / 311?”5[6 BE)

A17] S8 4
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Which of the following is the name of a mobile application launched by Rajasthan Government for farmers?

(A)  Farmers Organic App (B)  Kisan Organic App
(C)  Rajasthan Farmers App (D)  Raj Kisan Jaivik App
(E)  Question not attempted

Freafaftaa & @ foramt & fore T seenr g gy fore 7T AieTs et TrefieheT ot AT R 82

(A) ®HE HATHF T (B)  Torum Simifer U
(C)  TSTEY %o Ug (D) TS forEm Siferes U
() SFfdia s

When was the first Agriculture Budget presented in Rajasthan separately? (Choose the most appropriate option
from below)

TSTET H el YoM Y ST ST § U= ot 7rn? (e /& ety 3ot forehet <1)

(A) 2020-21 (B) 2021-22
(C) 2022-23 (D) 2023-24
(E)  Question not attempted / Hﬂﬂﬁﬁ BE)

HUA - 1 : T Hofrqot sirer Frfet @t 21
A - 11 : T, STRTHAT 7R Tt bt o AT et 7 707 /=T ST 2
ST HUAT o AT H (feriad faehedi # & waifesh 3Ugwh ok 9 :

(A) T [ T 1 T & (B) YT I 3T 11 ST 318 &
(C) = 1 HA &, o e 1 S8 2 (D) FF 136 &, fohg e 1 HA B
(B) raRayy

Given below are two statements:

Statement (I): The year 1947 was a year of unprecedented violence and trauma of displacement for India.
Statement (II): India was born in very difficult circumstances in 1947. Perhaps no other country had faced a situation
more difficult than that of India.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

el a1 e few e B

AT (1): T o6 TR 1947 31 Y ST {8 ST foreer i fohg ST aet SAMTEa & wiTr g7 ol

AT (I1): 1947 H WA 1 Si-H g &I STieet aicfeerferat § g ol shatrara foreft Wi s1=1 au7 o1 gat qfepet afefeufoa &
| T EAT &I ST I H g7 oMl

STUH o o Tereh 4, et fow e foreredi o & waiferes 3ug S|

(A) e (1) I FH (1) ST T 2 (B) % (1) I FH (I1) ST &1 TTetd 2
(C) ¥ (1) Tt 2 AR e (1) TTerd 2 (D) Y (1) TTed & Aok e (11) Tl 2
(B) raRayy

Which of the following state was carved out of Assam ?

(A)  Tripura (B) Meghalaya

(C)  Manipur (D)  Sikkim

(E)  Question not attempted
frferfiad o & fore U= T 5700 o & STTRT 3T 6 ST 71T 9T

(A Prow (B) A
(C)  Hfr (D) fuform
() SAfdia s

A17] S8 5 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

21

22

23

24

25

247

Which among the following was the major challenge India faced while building a nation state at the time of

independence?
(A)  Poverty (B)  Resource Constraint
(C)  To establish democracy (D)  Low level of Technology

(E)  Question not attempted

ST o W g TS o 101 9 ot freafctfiad o & fore g <t o1 ST T 0eT?

(A)  faear (B)  EETeH i T

(C)  AveRd sl TTOAT (D)  renfiehr &1 e =)
(B) raRayy

‘In Memoriam’ painting was painted by whom in 1859?

(A)  Jone Borkar (B)  Joseph Noel Paton
(C)  George Paton (D)  Jone Kersia

(E)  Question not attempted
1859 § = HHINET’ A8 Ui~ forereh gry oS 78 ofi?

(A) S R (B) S et Yed
(C) SISt (D) i i
() SFfdia s

The Mudaliar Commission was setup in 1952 to: (Choose the most appropriate options from below)
(A)  Study the allocation of resources between the centre and the states.

(B)  Study the demand for the re-organisation of states based on basic principles on liguistic basis.
(C)  Examine the condition of the secondary education system.

(D)  Formulation an industrial policy for an independent India.

(E)  Question not attempted

1952 2 TaReTTC ST oy T o 7 oft: (R 8 2 werds Sepes feebe =)

(A) g SRS o ofie THTEAT 3 ST T LI L o foTg)

(B) TN o STUITR T TAT o TS ohl 7T 3T 3Tk et AT oh SITET OX STERM i oy

(C)  wTeafies farea yomeft it ferfa i sif=r o fog

(D) T RA o ferg Sfenfies Hifa d&m e & fog

() SIfdia s

The Punchhi Commission (2010) is associated with which of the following?

(A)  Center State Relations (B)  Abolition of Death Penalty
(C) Reforms in Education (D)  Tax Reforms

(E)  Question not attempted

98T ST (2010) Frferiad & & foree g 82

(A)  E TS Y (B) WTIE W

() Rrardgan (D) TR

(E) oFfdia gy

Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A)  Diya Kumari (B)  Pratibha Patil

(C) Kamla Beniwal (D)  Vasundhara Raje

(E)  Question not attempted

freaferiaa o & s, Trsieer sht wore Afar 3u-qeges off?

(A) femmeatd (B) e ariest
(C) FHAT ST (D) TS
(B) raRayy

A17] S8 6 [ P.T.O.
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26 How many MPs are nominated in Rajya Sabha by the President of India?
AR o TSI G T FT § Tohe Tt (MP) i BT f3ham ST 22
A 12 B) o
(C) 18 (D) 10
(E)  Question not attempted / 3‘@3’&?[ I

27  Which of the following does not correspond to an audio file’s valid extension?
frforfiae o & =6 | ATl wrget o a4 ford & S17&d =2l 82
(A) .mid (B) .wav
(C) .rar (D) .mp3
(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

28 Convert (101110), = (?),
{base 2 to base 8}

gftafda s

(101110), = (?);

(ST 2 T ATEW 8}

(A)  (56) (B)  (48)
(©)  (30) D)  (20)

(E)  Question not attempted / Ni?rﬁl—d a4q
29  Which of the following is not a type of the printer? (Choose the most appropriate option from below)
(A)  Inkjet Printer (B) Dot Solid Printer
(C) Laserjet Printer (D)  3D-Printer
(E)  Question not attempted

frfafaa o & =i & fifet it forem 72t 22 (e o & weret 3oIeh forspe =)

(A)  FHor i (B) < Hifers fiie
©) A e X (Laserjet Printer) (D) 3-st fiex
(E) i@y

30 A batsman makes a score of 90 runs in the 17" inning and thus increases his average by 3. Find his average after
17™ inning?
(A) 44 Runs (B) 38 Runs
(C) 40 Runs (D) 42 Runs
(E)  Question not attempted

Teh Joddstst AT 173 ail § 90 T T ThiIT sATaT 2 S8 3Teht e 3 o ST 21 174 ait & o1e 3HehT 3ed

EISEAIE L

(A) 44T (B) 38
(C) 40 (D) 42W
(E) oFfdia gy

31 The income of Mr. Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure are in the ratio 2 : 1. If each saves
¥ 10,000, then Mr. Dhull’s expenditure is:
oft. et 3T 2R, GO T TR BT ST 7 : 4§ S BT S 2 ¢ 1 31 A AT X 10,000 3 = A & v ot Tt

FIITR -
(A) 60,000 (B) 65,000
(C) 70,000 (D) 75,000

(E)  Question not attempted / Ni?rﬁl—d a4q
Al7 | 88 7 [ P.T.O.
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freferfae sreat o wfer-forsa 1 sTarcirer o ae I i gea Hifvm)

a. TAH ="+ TH b. fEEm=f+awr
c. HWE=®d+Ud d. AT = AN + 354
e. TG =T+ A

it fow T forspedl # & HariTerh S S o

(A) Fada,b,c3Td (B) adc,d3ANe

(C) Fadc3Ne (D) ada, bR d

(B) raRayy

Microsoft Excel’s formula begins with .

TTSHRIETIE T 3BT T % T E BT 2

@A) . B =

(O D) |

(E)  Question not attempted / @gﬂﬁﬁ EE

Which one is a spreadsheet program in MS Office?

(A)  MS Outlook (B)  MS Powerpoint
(C) MS Word (D) MS Excel

(E)  Question not attempted

=1 9 & o o1 uuE SH1feE (MS Office) T Ush TISIIE T 82

(A) THUH ARIIH (B) W TH IS W§E

€ wwmaE (D) THTH TR

(B) raRayy

Which of the following is the theme of ‘Jal Shakti Abhiyan: Catch the Rain, 2023°?

(A)  Save water. Save Earth. (B)  Drinking water for all

(C)  Source sustainability for drinking water (D)  Save our water bodies. Save our planet.

(E)  Question not attempted

frfafaa § & <t wfh ARRE: =3, 2023 i e w9 € 22

(A) ST =T - geaft sl B) @t o forg i =t aret
(C) v o T g i e (weeAfarferdh) (D) AN STt feh ST=IeTl BN U8 o s=istl
(B) raRdaus

Which of the following statement is not correct about dry teak forests of Rajasthan? (Choose the most appropriate

option from below)

(A)  These forests are located in the southern and south-eastern parts of state

(B) In these areas, annual rainfall varies from 150-200 cms.

(C)  Generally the height of the trees range between 9 to 13 meters

(D) Teak wood is commercially useful and used for making furnitures, panels of doors, windows and house
construction

(E)  Question not attempted

freaferfaa & & i |1 o TSreerT o G 21k o STt o way 7wt 78 82 (et 8 & wod Swes forehed <0)

(A) ST, T o el Ue aferor-gef fewdt # feerd €

(B) T &1 H arfes ot gf¥ 150 & 200 H-THIE 7ok &Il 2

(C)  TT=rd 37 et il Frg 9 & 13 Hiek 7k Bl 2

(D) &k AT ARG T F § TARN § T FHAT TN Fri o) M, TSI b1 wrae, fagfrt iR Tg fmfor
AT el

(B) raRayy

A17] S8 8 [ P.T.O.
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Given below are two statements:

Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.

Statement (II): The head of the family is known as ‘Kotwal in Kanjar tribe.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

Frr 1 e fer e E:

FHAT (I): TSI H HoR SIS SAfeehat hiet, s, a1, Fermars, WiciareT, STy, S 3 AT Serhi | a3
STt 2

HAT (I1): T S H, THER 5 T i SHidarer” o T & ST ST 2

ST HUI o ATl |, 1 20 T foreedii § & wayiferes 3uge 3o 4|

(A) e (1) IR FH (1) ST T ) (B) e (1) R FH (1) ST &1 TeAd 2

(C) o (1) T & TfeRd e (1) TTerd 2 (D) U (1) T & ifeh e (11) 62 2l

(E) SFdia ¥

Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A)  Ganganagar (B) Banswara

(C) Jalore (D) Barmer

(E)  Question not attempted

2011 Y SFATIMT 3 STTER e 5 & Toreer & for firer 3 Afeet anerer i 20 ge 0 22

(A) TR (B) drEdrSt

(€) SR (D) smEH

(E) Sfdia w4

Who has been appointed as the Advocate General of Rajasthan in February 2024?

(A)  Praveer Bhatnagar (B) N.M. Lodha

(C)  Rajesh Kumar Gupta (D)  Rajendra Prasad Gupta

(E)  Question not attempted

AT 2024 H FoR TSI o HETerahT o &9 H 1k foram €2

(A) IR 9T (B) U TH. WG

(C)  TISIST FHR TTHT (D)  TSkS THETE TTHT

(E) SFdia ¥

Which ministry has introduced the Cinematograph (Certification) Rule, 2024?

(A)  Ministry of Agriculture (B)  Ministry of Commerce and Industry
(C)  Ministry of Information & Broadcasting (D) Ministry of Law & Justice

(E)  Question not attempted

frfefaa o & form wamers g =retfem vardt (smoftertn) e, 2024 @07 T mm

(A)  HY e (B)  SiUST ST 3N AT
(C)  F=HT SR SERIT HATeT (D) fafer oi =g damer
(E) SFdia ¥
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Sierra Leone in April 2024, declared a national emergency on the account of :

(A)  Zombie drug abuse (B)  Food shortage

(C)  Floods (D)  Political unrest
(E)  Question not attempted

3T 2024 H, FreAfarRad & @ fores ot foua fotetia o T sTaTdehTet St Swom <6t 157

(A)  Siislt HTEh 5o T geqamT (B) @I & &hHt

(C) ¥’ (D)  TSHfde U -qU

() SAfdiayy

SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with
(A)  Students (B)  Farmers

(C)  Army Personnel (D)  Tribes

(E)  Question not attempted

HIHATISTE =T 3T ARTTHHOT HATHT G & Al 718 218 (SHRESHTA) JISHT 3T % T TG 2
(A) BEl B) Termml

(C) T il (D) S

(E) SFgdia s

Given below are two statements:

Statement (I): The Chambal project is a combined project by the Madhya Pradesh State and the Rajasthan state.
Statement (II): Mahi power project is located close to Udaipur in Rajasthan.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

frar gt e few o €

AT (1): TS TREATSHT HER JRT TS3 ST TSTEAT T3 3h1 6k ST 2l
AT (I1): HTET St TS TSET H 3T o U1 f&ore 2

SURIh o o ATl H, 1=l T U forshedl § & @afieres 3uge St <M

(A) I (1) 3 FHA (11) IHT Fe & (B) U (1) 3T (11) SHT & 7T &1
(C) A (1) el & AT e (11) Teid 2l (D) A () 7T © WAfeh e (11) T R
(E) SFgdia s

Which of the following writs is issued by the supreme court to prevent an inferior court from usurping jurisdiction,
which is not vested in it?

(A) Mandamus (B)  Certiorari

(C)  Prohibition (D)  Habeas Corpus

(E)  Question not attempted

frfertad & & s €t e Seaam =mrer gr STRY I STt 2, ST freret STaTerd o =R &5 o TR sl Ushelt & T2
ST e &R § ffed 2 2

(A) TRETRT (B) 3T (AfET)
(©)  whmg (D) & yeaEfieT
(E) SFdia ¥
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Who among the following is not included in the committee constituted for the appointment of chairperson of the

National Human Rights Commission?

(A)  The Prime Minister (B)  The Chief Justice of India

(C)  The Speaker of Lok Sabha (D)  Leader of the opposition in Lok Sabha
(E)  Question not attempted

frforfiae o & S Ui AETTeeRR SR o STeer shi FRyfoh e o foTg isd affe o wfrferd =2t 82

(A) et (B) T o & =ArTeisr
(C) T o e (D) e i foget 3 Aar
(B) raRayy

High Mobility Artillery Rocket System (HIMARS) is developed by which country?
(A) USA (B) Japan

(C) India (D) China

(E)  Question not attempted

BTE Mifarferdt anféar) Tehe fieem (HIMARS) &1 farem forar 27 g fopam mam 22

A) FwWT B) WM

(C) w”d (D) ==

() SAfdia s

According to IQAir, which city has recently been ranked as the most polluted city globally in 2023?
(A) Dhaka, Bangladesh (B)  Pokhara, Nepal

(C)  New Delhi, India (D) Begusarai, India

(E)  Question not attempted

AT TOTeT G (IQAir) % STA, forg 7 2023 H waiiferes St wrew 1 &=t for et 1 foam T &2

(A) T, SR (B)  HIGHT, UTe

(C) ¢ feeett, wra (D) SR, R

(E) orfdi@ sy

Who was the first Chief of Defence Staff (CDS) in India?

(A)  General Bipin Rawat (B)  General Anil Chauhan
(C)  General Sam Manekshaw (D)  General K. M. Cariappa

(E)  Question not attempted
AR & JoH =% 3HAT% fe%h8 =16 (CDS) i 47

(A) SRS fafem Taa (B) SIS A dreH

(C) SRt | Ao (D) SR %, UH. ST
(B) raRayy

The State Information Commission submits its annual report to the-

(A)  Governor (B)  High Court of the state
(C)  State Government (D)  State Legislature

(E)  Question not attempted
TSI T SR ST ATfiien Te foperent S shear 22

(A) TSI (B) TST % I AT
(C) TSTHEHR (D) T faummvea
() SAfdia s
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Consider the following statements regarding delimitation commission in India and choose the correct answer from

the options given below:

Statement (I): Delimitation Commission Acts have been enacted in 1952, 1962 , 1971 and 2002 for fixing limits or
boundaries of territorial constituencies.

Statement (II): Its orders cannot be challenged in a court of law.

In light of the above statements,choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are true.

(B)  Both Statement (I) and Statement (II) are false.

(C)  Statement (I) is true but Statement (II) is false.

(D)  Statement (I) is false but Statement (II) is true.

(E)  Question not attempted

R | TTCH STRIT o e |, fferiad gemmetl ot fomm sed g e fog e fosped # & @t 3at 1 =12 Hifsu;
A (1): T ST A 1952,1962,1971 3R 2002 W AT Ferifed s 2 &t foramres sht afefan i s
& foru foparm mram em|

AT (I1): T STaRT T AT | AN Fa| ot ST Tl 2l

ST HUAI o AT |, 1 30 T foreedi § & wayiferes 3uge 3ot 4|

(A) e (1) A FHT (1) SHT € T B (B) % (1) M H (I1) ST &1 TTefd 2
(C) Y (1) I & AR e (1) TTerd 2 (D) A (I) TTd ® AT e (11) T 2
(E) oFfdia gy

Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?
(A)  Ministers

(B)  The Chief Minister

(C) Members of services established by the act of Rajasthan State

(D)  Zila Pramukh

(E)  Question not attempted

frfeTad & & i TSTeT o AR o =ATATHR & | Tel A1d 82

(A) A (B) T
(C)  TSTEM TS o T g1 E1fud Sareti s qeed (D) e ww@
(E) oFfdi@ s
is a memory used to store data temporarily, whereas stores data permanently, which cannot be
altered or deleted.
(A) RAM; ROM (B) ROM; RAM
(C) Compiler, ROM (D)  RAM, Operating system
(E)  Question not attempted
Tk A R foreeht ST stienet shl el &9 § d=5e & fou foma siran @, steifen ST ST 3ehel
o TrrRft Ter o for fomam st 2, it for wftarftda am firer 2 smaed @
A) mIm (B) TTW
(C) TR, TH (D) W, AT faeew
(E) oFfdia gy
Hardware that is used to provide information, data and to control signals to a computer system from outside world is
called . (Choose the most appropriate option from below)
(A)  Output Device (B)  Secondary Storage Device
(C) Keyboard & Mouse (D) TFT Monitor

(E)  Question not attempted
LT TG o I8 BT [SaehT ST SITedl ST & o1 JaT i, SATshgl A fwet shi i s o forg feram
ST &, 78 FEard & - (e H 8 el 3ugh forehed =)

(A)  3ATITYE TR (B)  Tervel A fearew
(C) Fofiveet T 7eE (D) 3w, &, Hifde
(E) oFfdia gy
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What type of data structure is used to store a group of elements in a non-linear manner?
(A)  Queue (B) Tree
(C) Array (D)  Stack

(E)  Question not attempted
et T # dedi o THg o WeroT o fore fore e i Sfeher STaT 2t ST foram Srar 22

A ®) &

€ ™ (D) W&F

(E) oFfdia s

What is the name of the software used to perform specific tasks on computer by user?
(A)  Operating system (B)  Utility software

(C) Artificial Intelligence (D)  Application software

(E)  Question not attempted

SRl GRT PRet O (HeTfae fohe ST arret forfRTe sl ST foh, ST aiTet SiTeeeizit <hT 19 T 27

(A)  ATfe faeem (B)  Ffeferdt dieaat
(©) nfdfhiyme fasia (D) U1y H9aTT
(E) oFfdia s

Where is famous Sela pass located through which road connects to Tawang?

(A)  Arunachal Pradesh (B)  Sikkim

(C) Assam (D) Meghalaya

(E)  Question not attempted
SITo ST UTE Rl Rd & ST adT ol §Sh W ST o7

(A) TR T (B) b

(C) ™ (D) HeETe

(E) oFfdia sy

Karewas is .

(A) A folk dance (B)  Desert soil

(C)  Thick deposit of glacial clay (D) A group of trackers
(E)  Question not attempted

HET 2l

(A) TEHAS T (B)  weEcl A
(C) e fuerft Tt i midt wea (Frgi) (D) 3R 1 UF WE
(E) oFfdia gy

Identify the statement which is NOT correct about the Northern Plains of India?

(A) Tarai is a narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope.
(B)  Tarai is a belt consisting of old and new alluvial deposits.

(C) Bhangar is an old alluvial soil deposit

(D)  Khadar is a new alluvial soil deposit

(E)  Question not attempted

FAfeTiad et H & WRd o I AT &1 o Gaw H ST o U8l T8l &, 36eh! Tga shiTau:-

(A) TS TF HR U 2 S Rranfore qered! o FHHI= A1 S o 22 T 8-10 fort o heft g5 2
(B) I S 3R qUHT STt gl ol wid arreft gt 2|

(C) iR QT Stette firgh i oea 2l

(D) WS SAlg gt 3l o 2l

(E) oFfdia s
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59 Choose the most appropriate English translation of the given sentence:

EIEECEERHEER
(A)  For no reasons, you sit here. (B)  For no reasons, you are sitting here.
(C)  You are unnecessarily sitting here. (D)  Without any reason, you should not sit here.

(E)  Question not attempted
60 Choose the most appropriate English word for-

=k fota
(A) Decision (B)  Arbitration
(C)  Adjudication (D)  Authorization

(E)  Question not attempted
Read the passage and answer the questions that follow: (Que No: 61 to 64)
The end of human endeavour is happiness and contentment. The advancement of science has not been able to bring them
about. On the other hand, it has made our lives complex and crooked. We can see with alarm the unending war which science
is waging against literature and art. The realm of poetry is being conquered day by day. The soothing charms of Nature fly
at the cold touch of science. What a solace was there in thinking of the silently shining stars, the blessed candles of the night!
What comfort is now left to the average man to know that the stars are but so many burning suns and the rainbow of
Wordsworth, at the sight of which his heart leapt up with joy, a prism of colours! The cheer and the charm are gone and the
dull fact remains.
‘Science’, observes G.B. Shaw, ‘never solves a problem without creating ten more.” But art and literature are themselves the
solution to all our problems. All our worries leave us amid the Sounding cataracts of Wordsworth, the Skylark of Shelley
and the Nightingale of Keats. They are a rest to the weary, an inspiration to the discouraged, sunshine to the sad, and Nature’s
best antidote for trouble.
61 The cheer and the charm of all humans are gone because:

(A)  Science solves all problems

(B)  People don’t enjoy Wordsworth, Shelley, and Keats

(C)  Nature is the best antidote for trouble

(D)  Science fails to bring them satisfaction as it has robbed nature of its charm

(E)  Question not attempted
62  Identify most incorrect option from the following:

Art and literature helps us:

(A) to solve all our problems. (B)  to give rest to the tired and bored.

(C) toprevent ourselves from trouble. (D)  to make material progress in life.

(E)  Question not attempted
63  The most appropriate meaning of the word ‘solace’ is:

(A)  Effort (B) Realm

(C)  Contentment (D)  Comfort in distress

(E)  Question not attempted
64 Match List-I with List-II:

List-I List-IT
Words Synonyms
a. Endeavour L. Dishonest
b. Crooked II. Anything that prevents
c. Cataracts III.  Effort
d. Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-II,d-1V B) a-lLb-ILc-1V,d-1I
(C) a-IV,b-Lc-1III,d-1I (D) a-IV,b-ILc-1,d-1I

(E)  Question not attempted
Al7 ] 88 14 [ P.T.O.
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Red panda is main fauna of which of the following biosphere reserves?

(A) Nanda Devi (B)  Nokrek

(C) Dibru-Dibang (D)  Gulf of Mannar
(E)  Question not attempted

e e, frfafiaa # & forg wifer stramoese &1 g 7

(A) F=redt (B) ishh

(©)  festfamim (D) HERH el

() SAfdiayy

Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A)  Jaipur and Delhi (B)  Delhi and Gwalior

(C)  Jaipur and Agra (D) Mathura and Jodhpur

(E)  Question not attempted

T 31 IR H ST A= Feerd 2 - (P o O Her 39 forehed o)

(A) AR TS feeedt B) oot ud mnferr
(C) SEIRTE ATHT (D) HYT T S
() SAfdiayy

Given below are two statements:

Statement (I): Sansi is Nomadic tribe mostly found in Bharatpur district.
Statement (II): The two division of Sansi are Vija and Mava.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

e 1 e fer e :

HU (1): T T FH S 2, ST o6 eara: wRaqe et & org st 21
A (11): FiET ST o i ST Amar o o 2

SURIh o o ATl H, =l fau e forshedi § € gafferes 3uge S <H|

(A) I (1) 3T FHA (11) IHT T 2 (B) A (I) 3T e (11) ST & 7T &l
(C) o (1) | & Tfehd e (1) TTerd 2 (D) U (1) T4 & ifeh e (11) T2 2l
() SAfdiayy

Which of the following is a physical change?

(A)  Cooking of food (B)  Ripening of fruit

(C) Dissolution of salt in water (D)  Formation of curd

(E)  Question not attempted

frafefaa o & =i 91 v sfifaes aiadT 22

(A)  YIISH 9HHT (B) el ST ahT
(C) T T T H T (D) &I T ST
() SAfdiayy

A17] S8 15 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

69

70

71

72

247

Match List-I with List-1I:

List-I List-II
Chemical Substance Application / Usage
a Bleaching powder L. Manufacturing of glass
b. Baking soda I1. Dental medicals
c. Washing soda III.  Purification of drinking water
d. Plaster of Paris IV.  Antacid
Gefi-1 bt -1 & gHfora shife
Tef-1 TE-11
NEIRIEER L] SATIANT / TAT
a. ST ISeX I = i
b.  SfRTHERET . & fafheEr
c.  SIRATERET L 93 S 1 Smee
d. o i i IV. 3T
Choose the most appropriate answer from the options given below:
et fow T fosredt # @ watfaes Iugw ST I
(A) a-Lb-ILc-1V,d-1I B) a-LLb-1V,c-1,d-1I
(C) a-IV,b-Ill,c-1I,d-1 (D) a-I,b-IV,c-NILd-1

(E)  Question not attempted / ?Eliﬂita EE
The multi channel TV programs can be seen directly at home through satellite by using a ‘Dish antenna’ without any

cable connection : (Choose the most appropriate option from below)

Sgaelt . s, e fomT foret Sheret-sheRTe o, BT 9T, fesr Ufear st YT ok, SUUE SR YT 2EAT 9Rd ®:

(an:r T Ee I foshed )
(A) DNS (B) DTH
(C) C-DOT (D) CDMA

(E)  Question not attempted / 34':@1'\@ e

If any object is thrown upwards with velocity more than 11.2 km/s from earth then the object will:
(A)  Go into space (B) Revolve around the Earth

(C) Return to Earth (D) Revolve around the Moon

(E)  Question not attempted

3T Forefl g b 1.2 kmy/s § SAfereh o & eaft & S ol A WhehT STt €, T o

(A)  fafeer o =l sorft (B) 9T o AT TR ekt ST
(C) gl W arfug o1 STt (D)  <IEHT o AR TR TeFehL TarT
() SAfdiayy

The main objective of ‘CHAUKA SYSTEM’ of Rajasthan is to
(A)  Support Bee Keepers
(B) Increase Animal Husbandry
(C) Manage Water Resources in Water Stressed Regions
(D) Manage Food System in Rajasthan
(E)  Question not attempted
TSTEAT T “iTeft TUITeAt” 7 7T 3e9 ¢
(A)  WYHIE! I I T FHAT
(B) X[ UTEH I ST
(C) U it W SUASHAT dTet &A1 UTHT o HETEMT ohT JeeH AT
(D) TSTEAT B IS YOIt T Jeler i
(E) Sfdia s
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‘Taanka’ is a traditional technique common to the Thar desert region of Rajasthan.
(A)  Agriculture (B)  Rainwater harvesting

(C)  Animal Husbandry (D)  Agro Industrial Work System
(E)  Question not attempted

TSR o AT T & § drr=raan % foTT “eTeehr” Uk TR qoheiieh 2

(A) BT (B) =l e wrEoT

(C) U UeH (D) W 3TrENfTen e Soedt

() SAfdiayy

The percentage of area under cultivation in Rajasthan is around

(Choose the most appropriate option from below)

TSTEIT H el o &1 Rl T wicrerd 21 (FF 5 & Ferd 393k forehed =)
(A)  45% (B) 51%
(C)  55% (D)  60%

(E)  Question not attempted / 31':@'&?[ 9
frfafad 3 @ #9-8 318 Gar & wAaT= 3768 7 82

a. BT b. hidr

c. EIE3 d. ol

e. Ee)
et fow T fershedt # & waffares Iugw ST 1 = hifelu;:
(A) et a 3N b (B) Faeb3fNd
(C) Fadc3Ne (D) Faad i a
() SAfdiayy
fe e fium e

HUT - 1 2 575 GHTE 5 2 Y& o o=l Fsieh forg o1 S0 et 2
U - 11 : e, 2, 37k, Fom, I 371fS Tl ohi Sehe st dTet YTeal & STHT Ha3Teh <@ ot J0T 21 2
SRITh o % STeireh H ffeiad foshedi § € waffass 3ugw ST - :

(A) T [ T T T B (B) Y I 37T 11 ST 38T &

(C©) FFIEAE, Thg Fo I SEA T | (D) FHIIEAT, b o LA 2
(E) oFfdia gy

Choose the most appropriate style of writing the subscription for a formal letter:

(A)  Your’s obediently (B)  Your obediently

(C)  Yours obediently (D)  Yours’ obediently

(E)  Question not attempted

Change the direct speech into indirect speech by selecting the most appropriate option :

He said, ‘I am quite a good cook and I do all my own washing and mending too.’

(A) He said that he was quite a good cook and he did all his own washing and mending too.

(B)  He informed that he is quite a good cook and he can do all his own washing and mending too.
(C)  He said that he is quite a good cook and he does all his own washing and mending too.

(D)  He said that he is quite a good cook and he did all his own washing and mending too.

(E)  Question not attempted

A17] S8 17 [ P.T.O.
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Which of the following is not a procedural language?

(A) FORTRAN (B) COBOL
(C)  Pascal (D) PROLOG
(E)  Question not attempted

frferfiad o & s €t v fskemess T2 82

(A)  ®RgH (B)  aHsied
(C) UR=hA (D) AT
(B) ruRayy

Which of the following organization functioning under the Ministry of Statistics Planning and Programme

Implementation, Government of India conducts five yearly surveys of employment and unemployment?

(A) NSS (B) NSSO
(C) NSSA (D) SSP
(E)  Question not attempted

W TR o GTReeh!, ST U hishA shdi-aa Haterd o 37efi freaferfiad & @ i a1 gired O i iT-Osmme &t
SIS HeeuT ST 27

(A) TATHUH (NSS) (B)  TATHUHIAT (NSSO)
(C) TATHUHT (NSSA) (D) wETEdt (SSP)
() SAfdiayy

What is the total income of the country divided by its total population called? (Choose the most appropriate option

from below)

(A) National Income (B)  Per Capita Income

(C)  Gross Income (D)  Net Income

(E)  Question not attempted

Torelt <91 3h e ST ohi SHehT et SHEEAT § forwTiord s ST g1 aTed TROTTH shi e &:- (1 o & St 3ugh forehed )
A) T AR (B) ufa=ates 3

(C) ¥hal A (D) I AN

(E) SFfdia gy

From which of the following funds all expenditure of the Government is incurred and no amount can be withdrawn

from it without the authorisation from the parliament?

(A)  Contingency fund (B)  Consolidated fund
(C)  Public Account (D)  Private Account
(E)  Question not attempted

freferiad & @ form i & wweer & auft sa fore ST € o1 doe 3 WifterR o forT 36w © 18 Tivr strefa w&t i s
Gehdl 27

(A)  SATRIETeRT [ (B)  wfeRad it
(C) e (D) frftdan
(E) oFfdia gy

18 [ P.T.O.
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Given below are two statements:

Statement (I): At the parliament of Religions held at Chicago in 1893, Swami Vivekanand made a great impression
on people by his learned interpretations. The keynote of his opening address was the need for a healthy balance
between spiritualism and materialism.

Statement (II): In 1897, he founded the Ram Krishna Mission. The mission stands for religious and social reform.
He was a great humanist and used the Ramakrishna Mission for humanitarian relief and social work.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement () is incorrect but Statement (II) is correct.

(E)  Question not attempted

i 3 e fag e &

HAT (I): T, 1893 T RIAHT 7 U wifiier 6w o1 SIS forarm TToT| Tt foerehie o S1o gt 9ot samei & Sufeera
AT 2 YT TEL JHTE ATl SToh G W0 o e foig o foh srearenane A siifdehare = e Ush Torey dger i
HTTTIHAT &l

AT (11): 1897 H 3781 TH FHo07 Forere ohl T oht| TR erTfefen 37 |TTfores Germ i a1 id 8| 9 Ueh HeT™ HIadTaral
o 3 321 Tk T, AT SURINT WA SR W Ued 71T |TTisTeh et o forg fofal

STUH o o Teleh 4, =t fow e foreredt & waiferes 39g® 3|

(A)  F (1) IR F (1) ST T 2 (B) U (I) 3T KA (11) T & 7T 8l
(C) A (I) W& & ATk e (1) TeAd 2l (D) A (I) T & Ao B (11) T2 2
(E) Sffdia s

Who formed a women’s regiment in the Indian National Army in 1943?

(A) Mahatma Gandhi (B)  Sarojini Naidu

(C)  Jawaharlal Nehru (D)  Subhash Chandra Bose

(E)  Question not attempted

1943 ¥ 3fUgaT A3et SATHT T AfgeT Hste shi T fomee i off?

(A)  HETCHT Tl (B) WA

(C) ST Tas (D) GwTS=E

() SAgdia s

Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option from below)
(A)  Shiv Kumar Bhartiya (B)  Shiv Chandra Bhartiya

(C) Nemi Charan Bhartiya (D)  Devi Charan Bhartiya

(E)  Question not attempted

TSTETHT SURITE ST ATeeh o T2 A@eh i 42 (R 5 & ae U foehed <)

(A) Ta TR ard= B) e =y
(C) =t =T IR (D) <t =T YA
(E) i@y

Allah Jillai Bai, a famous folk artist is well known for:

(A)  Kurja singing (B) Mand Singing
(C) Dance (D) Folk Drama
(E)  Question not attempted

HTeTE SIS aTE, Toh ITes ek helTehmt & St o for3r Tt STt

(A)  FATRA (B) HigMR=A

© T (D) Ik e

(E) Sfdia s

A17] S8 19 [ P.T.O.
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Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?
(A) Beneshwar fair (B)  Karni Mata fair
(C)  Sheetla Mata fair (D)  Kapil Muni fair

(E)  Question not attempted
TISTET T -8 HAT TSR SIS 3h1 P FHEelTal 87

(A) SO T (B) ol OTaT AT

(C)  ficefr Tt A (D) Hfoer g e

(E) oFfdia gy

During whose reign, a folk drama ‘Tamasha’ started? (Choose the most appropriate option from below)
(A)  Mabharaja Pratap Singh (B) Mabharaja Sawai Singh

(C) Maharaja Maan Singh (D)  Mabharaja Jai Singh

(E)  Question not attempted

o

frferfiar o § foreren ITEmehTet # “THTRIT ATHe Sl T1¢ I[& (AT T2 (T | & Herl Swqeh forehed <)

(A) e Yoy fie (B) WENST HaTs f&
(C) wewrST uH féE (D) HERST 5 T4
(E) SFdia ¥

freferfaa o wwsme slieren 7eaT i1 Ueh TohH e 2-

(A) TqEEE B) fregam®
(C) Tz (D) FHTAATH

(E) oFfdia gy

T RISt H ST eI go o 1|

39 e 1 o fargiror st s fopa 22

(A)  TTETE faRTer (B) HEAETeh farwor
(C)  uftmTorsierss fargror (D) gty fergreor
(E) orfdi@ sy

If the following words are arranged in the sequence which they occur in the dictionary then which of the word comes
in the middle ?

S I6a1 ohl AUITSRH H afeord shifofu 31 7y 318 1 shifory

Electric, Elector, Elect, Election, Electrode

(A)  Electric (B)  Electrode

(C)  Election (D)  Elector

(E)  Question not attempted / ﬂﬂﬂﬁ’ﬂ 99

Find the missing number (?) from the given alternatives.

e few T forsheat B @ (7) T o foTe T o1 =19

8 7 7
25 25 44©75
6 8 10

(A) 50 (B) 48
(C) 46 (D) 64
(E)  Question not attempted / eﬂgaita 9T

A17] S8 20 [ P.T.O.
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If Q means “+’, Jmeans “ x *’, T means “ — "’ and K means “+ "’ then
FRQEAF“+ > JHwAL“x ) T Frapgd«—» ALK FT L “ + > FHATR, o
30K2Q3J6T5=?

(A) 103 (B) 35

© 38 (D) 28

(E)  Question not attempted / 3‘@??{?{ 99

Which of the following option is different from others?

fafaRaa & & = o faser o= avft & st 22

A)  (5,18,4) B) ,22,2)

©) (7,56,4) D) (9,30,6)

(E)  Question not attempted / 3F|jﬁ_cf 99

Rearrange the unorganised letters given below to create meaningful words and then choose, one of them which is

different from others ?

el 3168 T o T STSAATET SR oh SHATEUT HITSIY TR o T Ieal § & 1 3768 1 = i)

a.  DIAFRY b.  STEUDYA
c.  DHAIOLY d.  ANDMYO
(A) a B) b
© ¢ D) d

(E)  Question not attempted / aflj?lﬁ_cf EE)

P, Q, R, S and T are sitting on bench and all are facing towards north. P is sitting next to Q, R is sitting next to S, S is
not sitting with T and T is on the left end of the bench. R is on the second position from the right. P is to the right of
Q and T. P and R sitting together. In which position P is sitting?

(A) Between Qand S (B) Between Q and R

(C) BetweenSand T (D) BetweenR and T

(E)  Question not attempted

P,Q, R, S 3R T & W o3 & TR Helehl H@ It o1 0 ol P, Q % W 3T €. R, S o €I 3T 31 S, T o A1 T a7l
T it o 3 aT¢ R oX 81 R AT¢ & g8 T W31 P, Q 3R T % T4 a7 31 P 3R R T |1 & &) P ok 3iep off=r &
F3T 22

(A) Q3RSHd=H (B) QG RR&=H
(C) SIMTHA=H (D) RIMTHA=H
() SAfdiayy

The height of banana tree and lemon tree is same. Mango tree is shorter than plum tree. Guava tree is smaller than
mango tree but bigger than banana tree. Find out which is the tallest tree?

(A) Lemon tree (B)  Guava tree

(C)  Plum tree (D) Mango tree

(E)  Question not attempted

et S TS % Ug sht FelTs HAT 21 HATH o1 Ug ATITERT o Ug U DI 8| STHES [ U 3TH % U ¥ DI € TWehel % U
EESKECECECEIEIERICEIE

(a) fgwEug (B) IU%S HIUS
(C) HATITER H U (D) AHHUE
() SAfdia s

A17] S8 21 [ P.T.O.
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Given statements to be true even if they seem to be at variance from commonly known facts , then decide which

conclusion would follow on the basis of given statements.
Statement : No number is a digit.
All digit are fractions.
Some fractions are integers.
Conclusion : 1. All fractions can never be numbers.
II. Some integers are definitely not numbers.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Only conclusion I follows (B)  Only conclusion II follows
(C)  Both conclusion I and II follows (D)  Neither conclusion I and nor II follow

(E)  Question not attempted
S9! faU T ST ol Hed AT &, 9ol 21 3 SH=ad J1d a2di 8 = Idid 8id 8, 79 hRg shia-ar feeny fou 73 shemi st

qTfeheh &9 & SO T 2
HAT: H1s ol HEAT 37 A= B
ot 37 @ &
FS @S IOl ¢
FeRd: [ ol g ot oft deard et 2wl
11 % ot ffaa w0 & w72 2
SURIh o o ATl H, =l fou 7y forshedi § & gafferes 3ugw S <H|
(A) A e [ ST LT 8 (B) At e [1 T80T T 2
(C) ST T [ 3 11 T80T L 2 (D) 7 ke 1 3 7 Foreamed 11 o e
(E) oFfdia gy

A lent ¥ 600 to B for 2 years and ¥ 200 to C for 4 years on same simple interest. He received all together from both,
¥ 100 as an interest. The rate of interest is

‘A’F B’ IR 600 31 A9 o fAT SR C %1 X 200 AR S oh FoAT FHI HTEROT 4TS W Q) 41 & 38 et 1 100 AT
SITH 37| SATSI-&X J1d shifor)

(A)  10% B) 5%

©) 4% D) 8%

(E)  Question not attempted / 3T§D?|'T\(ﬂ 99

When a commodity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the commodity in T is:

el Ush S I T 69.60 T SI=IT ST € dl 25% BT Il €| 3 T T Hod &9 H 7 8?2

(A) %9280 (B) ¥88.80

(C) %94.80 (D) %90.20

(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

Choose the most appropriate word to complete the given sentence:

If you a skeleton in the cellar, don’t mention it to anyone.
(A)  will find (B) find
(C) founded (D)  will be finding

(E)  Question not attempted
Choose the most appropriate meaning of the idiom given below:

His eldest son, a spendthrift, is a thorn in his side.

(A) A constant source of annoyance to him (B)  Anasset
(C) Having a disease (D) Isin a painful condition

(E)  Question not attempted

A17] S8 22 [ P.T.O.
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Complete the given sentence by choosing the most appropriate response from the options given below:

He was reprimanded his teacher for biting his nails.
(A) for (B) by
(C) in (D) to

(E)  Question not attempted

When the government spends an amount equal to the revenue that it collects, it is known as a:
(A)  Deficit Budget (B)  Surplus Budget

(C) Balanced Budget (D)  Equal Budget

(E)  Question not attempted
ST T 38eh FI ST TSl o e T o Ll &, 36 el Sl 7

(A) ERH L (B) IRy sSe
(C)  EfeTd sste (D) EHM SIS
(E) oFfdia s

Who among the following is the author of the’General Theory of Employment, Interests and Money’, regarded as
one of the most influential books of the twentieth century?

(A) Robert Lucas (B)  John Maynard Keynes

(C)  Kenneth Arrow (D)  Friedrich Hayek

(E)  Question not attempted

frfafad #§ & S TSR, 1T Ud 731 o AT fHgia”, T6eh o oiaeh & 8 2040 Frreet hi et 3tfereh sraremeft

RERIC IS G

(a) T g (B) S HITE i
(C) Hf=gwd (D) el es
(E) SFfdia gy

Given below are two statements:

Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.

Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

F=r 1 e fer e E:

AT (I): WA hT TocoIdT § et Tect, ST I GRT AL S0 61 718 off fof 9T WX 379 TS o HHTH 8 R SaTS] |
T FHTH T 2|

HAT (11): ST TS T T TS AT T3 Toame SToT it & =1 df STRA A7 ikt # et & S A7 T 3797 Tara=
IAfEdca ST |

ST o o STeleh 4, =t fow e foreredi H & waiferes Iug S|

(A) I (1) 3 FH (11) IHT Fe & (B) A (I) 3T (11) ST & 7T &l
(C) A (1) el & AT e (11) Teid 2l (D) A (1) TTeTd © Afeh e (11) T R
() SAfdiayy

A17] S8 23 [ P.T.O.
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Given below are two statements:

Statement (I): Bairath is situated in Jaipur district. It has been a very developed place during various eras.
Statement (II): It was the capital of Matsya Region during the Mahabharata period. Stone plaques of samrat Ashoka’s
period have also been found.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

frar gt e few o €:

HA (1): e, S et & feara 21 7 fafir= 2 3 e wer arga & forepfa s @ @)

HAT (I1): TE TRV hTcT o SR 0ol &1 ohl TSI 97| THTE 3Tk o shied shl f31er ufgepmd off 72t fireft 2)
Uik o] 35 ST H, 411 fa e et & i s Se

(A) e (1) IR FH (1) ST T 2 (B) e (1) R FH (1) ST &1 TeAd 2
(C) ¥ (1) T & TfeRd e (1) TTeTd 2 (D) U (1) T4 & ifeh e (11) T2 2l
(E) oFfdia s

In 1453, who seized Mandor from Marwar and married his son Raimal to a princess of Marwar.
(A) Maharana Kumbha (B) Maharana Mokal

(C) Maharana Lakha (D) Maharana Simbha

(E)  Question not attempted

G 1453 H, Torer HeI T HRETS § Fooll fofm o7 371 370 T et 1 foraire Arams ot Tt | foram e

(A)  HERIOT HFIT (B)  WETIUT Hrshet
(C)  HERIOT ATEn (D)  HERN fwe
(E) oFdia 9

Which fort is called ‘Sonar Quila’ or ‘Golden fort’?

(A)  Jalore fort (B)  Gagron fort
(C)  Jaisalmer fort (D)  Amer Fort

(E)  Question not attempted

Frfafiaa § @ fore forct w1 i forer o “waot foretr o 919 & STHET ST 22

(A) SR feret (B)  TRM fehem
(C) ST e (D) MR fFar
(E) oFfdia gy

What will come in place of question mark in the following sentence?
it 21 TS 2ot 7 W Free ok T O R SW?

MOUSE : KPSTC : : LIGHT : _ ?

(A)  MIHIV (B) IJEIR

(©) MGHFV (D) JGEFR

(E)  Question not attempted / 34351'?6 BE)

A17] S8 24 [ P.T.O.
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Figure (i) and (ii) are related in a particular manner. Establish the same relationship between (iii) and (iv) by selecting

a figure.
Which figure would replace the question mark in fig.?

ST (i) S (ii) Toh THL H T ferfRre oilteh & Hsiferd &) SATHH (jif) AT (iv) o sfter G Hsler Tnfia s o fofq sTrepfa
T =19 L S T4 7 (2) 3 T O ST

OIO©)]?

(i) (i) (iii) (iv)

) (®)
©) (D)

(E)  Question not attempted / Hﬂﬂﬁﬁ EE)
Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all

the houses?

(A) Rajasthan (B) Gujarat
(C) Tamil Nadu (D)  Odisha
(E)  Question not attempted

freaferftaa o & vy o wdvem fore sg |, weft S 8 ST STeT G0 ST ol SATgeh ST fe T e 82

(A)  TS=H (B) TSR
(C) dfrerTg (D) enfeem
(E) Ffdi@ gy

When did the Simon Commission arrive in India?

A H TTSH STINT el STT?

(A) 1925 (B) 1928
(C©) 1930 (D) 1932

(E)  Question not attempted / 3511?”51?‘1 99
T ® shiq-a1 9ame 87

(A)  eFfiaE (B) wgsliie
(C) %% (D) FHUTT
(E)  SFdita 94

T 1 3ue B

A) 3 (B) =H
© = (D) 3q4
() SAgdiays

TG 7163 H T B-

A) (B) @

€ uw D) =

() i@y

Find the number of coins, if each coin is 2.5 cm in diameter and 0.2 cm thick, to be melted to form a right circular
cylinder of height 10 cm and diameter 5 cm.

Ife wifer &k 1 o 2.5 Tt STR AT 0.2 Tt @ Y Uoh ovel i St foraeht ams 10 St o =3 5 o, o |
forc Tent b1 FUEreT=T BT Seh! e S1a hifer)

(A) 50 (B) 100

(C©) 200 (D) 250

(E)  Question not attempted / ﬂflﬁﬁ’ﬁ 99

A17] S8 25 [ P.T.O.
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Internal length, breadth and height of a rectangular box are 8 cm, 6 cm and 4 cm respectively.

How many boxes can be packed in a cube whose volume is 6144 em’® 2

Teh AT {osl sl SIS, TIeTs 3T TS ShAST: 8 cm, 6 cm 3T 4 cm 21 6144 cm® 3T & o9 | foha fess Ieh

(Hepfer) B
A) 32 (B) 36
© 28 (D) 34

(E)  Question not attempted / ?Flﬂflitﬁ BE)
If the word “MATHEMATICAL” is spelt with “N” in place of “MA?”, then the percentage reduction in the number

of letters, is:
“MATHEMATICAL” 318 § Ifg “MA” o T W ‘N’ foraT ST d 27e73 hY S 4 foha afasra st Ao
2
A 20% (B) 163%
2
€ 153% (D) 16%%
(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

The speaker can ask a member of the House to stop speaking and let another member speak. This Phenomenon is

known as:
(A)  Decorum (B)  Crosssing the floor
(C) Interpellation (D)  Yielding the floor

(E)  Question not attempted

e STete forelt ot wawr 1 ST U Ueh ekl & S GHL Fae i alier shi SFFHTT ST 8| 56 T hi ST ST & -

(A) W (SHMH) (B) T T HAR
(C) = BT (3feiwm) (D) FRfcgTzvr
() SAfdia s

To protect monuments, places and objects of artistic or historic interests, which are declared to be of national
importance is included under Constitution of India under-

(A) Directive Principles of State Policy (B)  Fundamental Duties

(C)  Fundamental Rights (D)  Judical Review

(E)  Question not attempted

T, T 3R e e A1 e e 3 <l 1 e v A 3 e e et fen o 2 7
e e 8 frefafaa § @ foremt afafora 82

(A)  TsT % ifa Fse fagia (B) Tifetsh sdex
(C)  Hifereh sferehmt (D) =Tk At
() SAfdia s

Which of the following bank was setup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural areas?

(A) NABARD (B)  Reserve Bank of India

(C)  Central Bank of India (D) SIDBI

(E)  Question not attempted

T TR GRT AT SeATehT | SifehT eI ol ST s o 383 = 1982 # ey # @ forwr ffehm weerr sht wmoes
[ERIRIN

(A) e (B) wRdw fed ¥
(C) T S AT gfean (D) foest
(B) ruRayy

A17] S8 26 [ P.T.O.
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A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of

labourers was first raised in which state?

(A) Bihar (B)  Odisha

(C)  Uttar Pradesh (D)  Rajasthan

(E)  Question not attempted

T ST AT S TH o T8 TH (MK SS) 3T T8t 0 SehTel Ted 1l 371 ATl o WTeli shi 7T <61 qE Sasorm o s
H 33T AT AT?

A) fwr (B)  efifgsm
(C) IR (D) TSR
(E) oFfdia gy

On 6™ November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?

(A)  Coco Islands (B)  Lakshadweep Islands

(C)  Andaman and Nicobar Islands (D) Maldives

(E)  Question not attempted

6 S 1943 2T, ST ST IS = SO 26T, o ST = e Sl bl HATE g sht AT b i €ive o ol foran
HEEEEEE DY

(A)  HEET (B) aET T

(C)  3feHM 3R e i (D) e

(E) oFfdia s

Choose the most appropriate sequence of articles to complete the following sentence:

Itis  pleasuretodo  business withsuch  efficient organization.
(A) _,aan B) _, ,an

< a ., (D) a, ,an

(E)  Question not attempted

Choose the most appropriate passive form of the given sentence.

I don’t like people telling me what to do.

(A) Idon’tlike being told by the people what not to do.

(B)  People are being telling me which I don’t like

(C) Idon’tlike what to do by the people.

(D) Idon’tlike being told what to do by people.

(E)  Question not attempted

Choose the most appropriate passive form of the given sentence:

I didn’t realise that somebody was recording our conversation.

(A)  Our conversation was being recorded and it wasn’t realised.

(B) Somebody was recording our conversation was not realised.

(C) Ididn’trealise that our conversation was being recorded.

(D)  Our conversation was being recorded by somebody.

(E)  Question not attempted

Identify the word that can best substitute the given expression:

A state of worry or general unhappiness.

(A) Dyxpraxia (B) Dysphoria
(C) Dystrophy (D) Dystopia
(E)  Question not attempted

A17] S8 27 [ P.T.O.
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Who among the following is known as the father of Green Revolution in India?
(A) M.S. Swaminathan (B)  Verghese Kurien
(C)  Hiralal Chaudhary (D)  Sam Pitroda

(E)  Question not attempted

Freaferftaa o & fordr va o =fa shifer o6t S |17 ST 22

(A) T TH. ST (B) e i
(C)  Eretre =erdt (D) & foEwET
(E) oFfdia gy

What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)

(A)  About 85% (B)  About 75%

(C) About 65% (D)  About 60%

(E)  Question not attempted

AT o G R b Tl TR ST 7ot TSRt o g e o fniz oft? (et o & wreret Sopehs forsbe =)

(A)  85% T B)  75% qTHT

(C)  65% T (D)  60% TTHT

(E) oFfdia gy

“Blue Revolution” is related to: (Choose the most appropriate option from below)
(A)  Fish production (B)  Fruit Production
(C)  Flower Production (D)  Milk Production

(E)  Question not attempted

“freft shifer weifera &: (et & & wor ST forshed <)

(A) TS AT o (B) W 3G H
(C) FAIAEAH (D) TUIAERTH
(E) oFfdi@ s
Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
c. Deficient Manpower planning d. Low Academic Standards

Choose the most appropriate answer from the options given below:

(A) aandb only. (B) bandconly.
(C) a,bandc only. (D) a,b,canddall
(E)  Question not attempted

TR § e it oy 7 i ot e o w8

a. Sl SHEE b, ufaw g
c. Iy SHIRE e d. = el e
et fow e oot & § watfaes Iugw ST
(A) Fada3ARDb (B) adb3Iic
(C) Facta,b3fc (D) a,b,c3R dadt
() SAfdiayy
The starting point of Indira Gandhi Canal is in the state of:
(A) Haryana (B)  Punjab
(C)  Rajasthan (D)  Uttar Pradesh
(E)  Question not attempted
sty el ew =T T foig form Tear 1 22
(A) @ (B) U™
(C) TSEIH (D) WIS
() SAfdiayy
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The Jawahar Sagar Dam is on which of the following rivers?

(A)  Satlyj (B)  Sabarmati

(C) Bandi (D) Chambal

(E)  Question not attempted

SaTet AR sty FrefaRaa § 9 fore 7d w e

(A) Eaqs (B)  wTeHdAT

(C) =t (D) T

(E) SFdia

Animal Husbandry contributes around share of agriculture sector in Rajasthan.
(A)  1/4h (B) 1/3d

(C)  3/4th (D) 1/5t

(E)  Question not attempted

TSTET H 1Y &5 5 TR UTeT T ST foedt =1 e 2

(A) 1/49 B) 134

(C) 3/4di (D) 154

(E) oFqdia s

In which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fateh Burj located?
(A) Lohagarh fort (B)  Jalore fort

(C)  Jaigarh fort (D)  Junagarh fort

(E)  Question not attempted

forwr forct 3 FoReTiY e, e @1, hidt W, STaTet st 3L g oSt feord 82

(A) <ErTe foRet (B) SR fere

(C) ST fehett (D)  STIWTe fefett

(E) SFdia g

Which Regiment of the Indian Army did Major Shaitan Singh belong to?

(A) Dogra Regiment (B) Bihar Regiment
(C) Madras Regiment (D)  Kumaon Regiment
(E)  Question not attempted

TS SraT g et 8T i foRe e 3 o2

(A) S IREe B) forerime

(C) wsT| iNHe (D)  FATS SHe

() SAgdiays

Given below are two statements:

Statement (I): Agrarian movements of Rajasthan before independence were led by non-farmers.
Statement (II): The movement in the Ganganagar area was led by Y.N. Handa, a Communist leader.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (IT) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement () is incorrect but Statement (II) is correct.

(E)  Question not attempted

HUT (I): HATSTE § TE TSTEAH o HfY SR hT Aqedt T-ferami = foram em

AT (I1): T &7 o STRICH T e Ueh (S T dTs. T, BTl o §RI fohart )

SURIh o o ATl H, =l fau g forshedi § € gafferes 3uge S <H|

(A) e (1) I H (1) ST F 2 (B) Y (I) 3R F (1) THT &1 TeAd 2
(C) oA (1) Hel & Ak e (11) TeAd 2 (D) A (1) TTeTd © Afeh 3o (11) Tt 2l
(E) SFdia
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[N a N e

frfefiaa # 3[g T &-
a. SR AN b.  HYIE T UL 2
c. o€ IIUE ¥ amE Slie 3| d. 9% 3% ST HLT 2
e.  FEAIHU I 2l
et faw T ferehedt # @ wifers U ST A :
(A) FadbITd (B) ada3Nc
©) Fael ¢ 3T e (D) Faet a 3T e
() SAfdiayy
wferem o forer sT=ee & e v 3 forerrer wet SeIR-SEm 3 o strerares e s g 22
(A) 3T 243 (B) ¥1T=T 351
(C)  3rF=ee 281 (D) 3T 363
() SAfdiayy
C is the mother of A and B. If D is the husband of B, then what is the relation of C with D?
(A)  Sister (B) Aunt
(C)  Mother (D)  Mother-in-law

(E)  Question not attempted

C, AR BHIAMI2I I D, BHUfd 2 dl C 1 D & &1 Haier 22

(A) == (B) ===
(C) =t (D) @™
() SAfdiayy

In certain code “FROZEN” is written as “OFAPSG”. Then, how would “MOLTEN” be written in that code?
fopell %52 w1 # “FROZEN” %! “OFAPSG” ot STt 21 df 3¢ 32 wiem § “MOLTEN” i ¥l forat Siam?

(A) OFUMPN (B) OFUPNM

(C) OFUPMN (D) OFPUMN

(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

Ajay left his office and walked towards East for 5 km, and turned left and walked for 12 km to reach his home.
Rakesh who works in same office, left the office and walked towards West for 5 km and then turned left and walked
for 12 km to reach his home.

What is the shortest distance between home of Ajay and Rakesh?

(A) 34km (B) 26km

(C) 24km (D) 17 km

(E)  Question not attempted

ST < STOAT hrA T Bigl SR Gl fawmm 7 5 feret =retr, o o8 oi7g o 37 31T 0 5 vg= o forg 12 fopeft = Troba
ST ST AT o e AT €, o ST hrierd Bigl A iz fewn d 5 fopeft =retm A o e ars foerm H 77 311t 37 =1
TEe o FoTu 12 Topeft =rettl SFoRr 37 Treha o6 o1t o sfter oht = gl o 22

(A) 34 forelt (B) 26 frt
(€) 24 fht (D) 17 R
() SAfdiayy

How many genotypes of the human ABO blood group are possible?

AT ABO &8 Tt o feha S T& 0 (Sfiiersy) dvye 82

(A) 4 B) o

< 3 D) 8

(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of

pen are:
&1 e qHY o TITed a7 % sffe Ush O %l 1@ St 21 O ot i i sh w2
(A) 4 B 2
<© 3 D) 5

(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99
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Given below are two statements:

Statement (I): The fuse is placed in parallel with the device in the circuit.

Statement (II): The fuse used in the electric circuit protects the appliances by allowing the flow of high current
through them.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

AT (1): RIS 1, TR H, TR o FHHIR T@T ST 2

AT (I1): Forega aftaer ©, ITINT B STt RIS ST H o 3= Torgld 9T ohi STied ahich 3ehl et LT o
ST HUHI o6 AT |, 1 3¢ T foreedi § & wayiferes 3uge 3o 4|

(A) e (1) R FHT (1) SHT T B (B) % (1) 3 H (I1) ST &1 TTefd 2
(C) A (I) U &, ATk e (11) 3TET Bl (D) A (1) T 8, AThA e (I1) T 2
(E) oFfdia s

Which of the following is an Azonal Soil group?

(A) Laterite soil (B)  Podzols soil

(C) Lithosols soils (D)  Tundra soil

(E)  Question not attempted

freaferfiaa & & 1t st gaT e 22

(A)  eTEe fugt (B) o gt

(€) e (D) I

(E) oFfdia gy

Which of the following is a fresh water lake?

(A)  Sambhar (B)  Udai Sagar

(C) Didwana (D) Pachpadra

(E)  Question not attempted

fferfad & & s € areim 9T 3 3fie 22

(A) WM (B) IS EH

(C) fe=amm (D) YE9E

(E) oFfdia s

Rajaji Tiger Reserve is located in which of the following states?

(A)  Uttarakhand (B)  Rajasthan

(C)  Uttar Pradesh (D) Madhya Pradesh

(E)  Question not attempted

R & @ & & Tsa § TSt TR e o 82

(A) 3IJWEs (B) TS

(C) WY (D) T YW

(E) oFfdia gy

Sariska National Park is mainly famous for? (Choose the most appropriate option from below)
(A) Royal Bengal Tiger (B)  Asiatic Lion

(C) Indian Leopards (D)  Siberian Crane

(E)  Question not attempted

HITCEaRT e e Herd: Tk o witg &2 (et & & et Soagh fereet <)

(A) I ST TR (B) Rt A
(C) sfeaode (D) dTSSIfEE o
() SAfdiayy
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SPACE FOR ROUGH WORK /% T & To18 T

I A | gt Wladi & - 9o1 T SR T3t qid, Tern qaTie i alen &8 oig @ g wiendf 3w
T 1 GI1 Tt diersh st @A, adienedt @ f3dta gt &t sert T8 # | e g I aTw
%1 96T STfdl 1 379 9T 7T Y, T3ATa Ui 1 91 Ifd @ e @13 @ A1 W A1 Gaieh AT #
adtemef st @ia | ghendf fadta gfa &t o are o A |
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